Life Fitness Olympic Military Bench

LBR-OM

Assembly Instructions

-,
1024349-0001 REV AA A)é , WS






Corporate Headquarters

10601 W Belmont Ave, Franklin Park, IL 60131 ¢ U.S.A.
847.288.3300 ¢ FAX: 847.288.3703
Service phone number: 800.351.3737 (toll-free within U.S.A., Canada)
Global Website: www.lifefitness.com

International Offices

EUROPE, MIDDLE EAST, and AFRICA (EMEA) All Other EMEA Countries and Distributor
Business EMEA*

Life Fitness Atlantic BV

AMERICAS
North America Belgium, Netherlands, and Luxemburg

Life Fitness Atlantic BV

Life Fitness, LLC

10601 W Belmont Ave

Franklin Park, IL 60131 U.S.A.
Telephone: (847) 288 3300
Service Email:
customersupport@lifefitness.com

Sales/Marketing Email:
commercialsales@lifefitness.com

Brazil
Life Fitness Brasil

Av. Reboucas, 2315

Pinheiros

Sao Paulo, SP 05401-300

BRAZIL

SAC: 0800 773 8282 option 2
Telephone: +55(11) 3095 5200 option 2
Service Email: suportebr@lifefitness.com

Sales/Marketing Email:
vendasbr@lifefitness.com

Latin America and Caribbean*
Life Fitness, LLC

10601 W Belmont Ave

Franklin Park, IL 60131 U.S.A.
Telephone: (847) 288 3300
Service Email:
customersupport@lifefitness.com
Sales/Marketing Email:
commercialsales@lifefitness.com

Bijdorpplein 25-31

2992 LB Barendrecht

THE NETHERLANDS
+3118064666

Service Email:
service.benelux@lifefitness.com
Sales/Marketing Email:
marketing.benelux@lifefitness.com

United Kingdom
Life Fitness UK LTD

Unit 109*

Lancaster Way Business Park
Ely, Cambs, CB6 3NX
Telephone: General Office (+44)
1353.666017

Customer Support (+44) 1353.665507
Service Email: uk.support@lifefitness.com
Sales/Marketing Email: life@lifefitness.com

Germany, Austria, and Switzerland
Life Fitness Europe GMBH

Neuhofweg 9

85716 Unterschleif3heim
GERMANY

Telephone:

+49(0) 89 /31775166 Germany
+43(0)1/ 6157198 Austria
+41(0) 848 / 000901 Switzerland
Service Email:
kundendienst@lifefitness.com
Sales/Marketing Email:
vertrieb@lifefitness.com

Bijdorpplein 25-31
2992 LB Barendrecht
THE NETHERLANDS
+3118064666

Service Email:
emeaservicesupport@lifefitness.com

ASIA PACIFIC (AP)
Japan

Life Fitness Japan, Ltd

4-17-33 Minami Aoyama 1F/B1F
Minato-ku - Tokyo 107-0062

Japan

Telephone: (+81) 0120.114.482

Fax: (+81) 03-5770-5059

Service Email: service.lfj@lifefitness.com

Sales/Marketing Email:
sales@lifefitnessjapan.com

Hong Kong
Life Fitness Asia Pacific LTD

26/F, Global Trade Square

21 Wong Chuk Hang Road

Wong Chuk Hang

Hong Kong

Telephone: (+852) 25756262

Fax: (+852) 25756894

Service Email: service.hk@lifefitness.com

Sales/Marketing Email:
marketing.hk.asia@lifefitness.com

Spain All Other Asia Pacific countries and distributor
- R P
Life Fitness IBERIA business Asia Pacific

Life Fitness Asia Pacific LTD

C/Frederic Mompou 5,1°12

08960 Sant Just Desvern Barcelona
SPAIN

Telephone: (+34) 93.672.4660
Service Email:
servicio.tecnico@lifefitness.com

Sales/Marketing Email:
info.iberia@lifefitness.com

*Also check www.lifefitness.com for local representation or distributor/dealer

Page 1 of 17

26/F, Global Trade Square

21 Wong Chuk Hang Road

Wong Chuk Hang

Hong Kong

Telephone: (+852) 25756262

Fax: (+852) 25756894

Service Email: service.ap@lifefitness.com

Sales/Marketing Email:
marketing.hk.asia@lifefitness.com


http://www.lifefitness.com
mailto:customersupport@lifefitness.com
mailto:commercialsales@lifefitness.com
mailto:service.benelux@lifefitness.com
mailto:marketing.benelux@lifefitness.com
mailto:emeaservicesupport@lifefitness.com
mailto:suportebr@lifefitness.com
mailto:vendasbr@lifefitness.com
mailto:uk.support@lifefitness.com
mailto:life@lifefitness.com
mailto:service.lfj@lifefitness.com
mailto:sales@lifefitnessjapan.com
mailto:customersupport@lifefitness.com
mailto:commercialsales@lifefitness.com
mailto:kundendienst@lifefitness.com
mailto:vertrieb@lifefitness.com
mailto:service.hk@lifefitness.com
mailto:marketing.hk.asia@lifefitness.com
mailto:servicio.tecnico@lifefitness.com
mailto:info.iberia@lifefitness.com
mailto:service.ap@lifefitness.com
mailto:marketing.hk.asia@lifefitness.com
http://www.lifefitness.com

User and Service Documents Link

https://lifefitness9512.zendesk.com/hc/en-us
https://www.Iftechsupport.com/web/document-library/documents

Additional information is available online using the links above.

soVel Lo sl ol o 23l5) Sloglas 55

s LT R B TR LRI E 25 R .

Flere oplysninger er tilgeengelige online gennem linket ovenfor.

Bijkomende informatie is online beschikbaar via bovenstaande link.

Vous trouverez plus d'informations en ligne a l'aide du lien ci-dessus.

Zusétzliche Informationen finden Sie online Gber den oben angegebenen Link.
Ulteriori informazioni sono disponibili online utilizzando il link sopra riportato.
EMEHRE L) VEFERALTH U SMV TRIRARIEETY,

71 BAaE Tl 2ol FE AR E B sy

Informacdes adicionais estdo disponiveis on-line, através do link acima.
JlononuuTensHas HHYOPMALHS TOCTYITHA B HHTEPHETE TI0 CChUITKE, YKA3aHHOMN BBILLE.
Mediante el enlace anterior podra acceder a informacién adicional en linea.
Ytterligare information finns online genom att anvénda lanken ovan.

internet lizerinden daha fazla bilgi edinmek icin yukaridaki baglantiyi kullanabilirsiniz.
Vel L sl sl e dolis £3L] Slahan 2o

Informazio osagarria eskuragarri dago goiko estekaren bidez.

JonbiHuTesnHa HHGOPMALHs MOXKETE 1a HAMEpPUTE OHNIAaiH, KaTo M3I0NI3BaTe Bpb3Kara II0-rope.
Mitjangant I'enllag anterior podreu accedir a informacié addicional en Iinia.

(SR R #ESS R ERR AR NEER -

Dodatne informacije mozete pronadi na internetu sljededi vezu iznad.

nAR etbarma-7 h1S7H(ATh) NePmPbg® aLEPT KIART £T15 (v

Lisatietoja on saatavissa verkosta kdyttamalla ylla olevaa linkkia.

Wubetumi anya nsem afoforo aka ho wo websait so denam asem a ewo atifi ho a wubemia so so.
[Ipocbeteg MAnpopopieg eivar S100£01UEG OVAGLY XPT|GLUOTIOLDVTOS TO GUVOEGHO TIAPATIAVE.
2w% Twrpn MIYEnR2 vIOIRA HIPY IWDR [ON YT

Tovébbi informacid elérhetd online, a fenti hivatkozés segitségével.
Vidbdtarupplysingar eru faanlegar & netinu med pvi ad smella & tengilinn hér fyrir ofan.
Plus indicium per superum situm potes invenire.

) &e1ep8s allds 9a 16O ] B2emeealmad &yspmeal ailnioesud aiejaden.
Ytterligere informasjon er tilgjengelig pa nettet via linken ovenfor.

Dodatkowe informacje sg dostepne online pod powyzszym odnosnikiem.
Informacgdes adicionais estdo disponiveis online a usar o link acima.

Informatii suplimentare sunt disponibile online, utilizdnd link-ul de mai sus.

Dodatne informacije dostupne su na mrezi putem gornjeg linka.

Dalsie informaécie st dostupné online na vyssie uvedenom odkaze.

Page 2 of 17


https://lifefitness9512.zendesk.com/hc/en-us
https://www.lftechsupport.com/web/document-library/documents

Table of Contents

Safety
SATELY INTOIMATION ...ttt ettt h st e et s et s bt s et e e b et ea s e e e s e st e e s e s e s e ne e s e s es et s s et et e nenens 4
PrOTUCT LabDEIS ..ottt etttk etttk ettt 6
LAE] LOCATIONS ...tttk ekttt ettt 7
BOIt 1O FIOOT LOCATIONS. ...viiitiiiiectetcttetc etttk ettt ettt ettt 7
Assembly
COMIPONENTS ...ttt ettt e ae et h e st et b et a e et e bt e a e e bt e a e s h s e s e et e bt eh e bt e h e bt e et at st eue et h et n e n s ennenea 8
[ T 1YY= o O USSP 9
TOOIS REGUITE. ..ttt ettt ettt h ekt b et bt ehe e bt b et eb etk et et e bbb e 9
ASSEMIDIY PrOCEAUIE. c..uiitit ettt et b et et b ettt b et b et b e 10

Product Information
P CITICATIONS. c. etttk b bkt h ekt b bkt h ket ettt 12

Bolt to Floor Guide

IMEEOTUCTION. .ttt ettt h bbb h et h et e bt et b e b bt et e bt e e bt e ekt e bt e eb et bt e btk et ettt b et ne b 13
Delivery and INSTallation TiPS. ..o ettt ettt ettt b et bt b et b ettt et b et b 13
AANCNOT TYPE = STATIC . ttutteiiiteet ettt h e bbbt b etk et h e bt e bt e eb et e bt et et eb et eb et bena bt 14
AN CR OT S ECITICATIONS ..ttt ettt ettt ettt s et e bt et s e b e s e et e e s e b e s et s e b et es e e es e b et ene s sebesene s eseseneasasenas 14
PUITOUL FOTCE...inttte ettt b et s b st h bbb bt e bbbt b e st e b st et e st et e st et e st et et abe e ebeneas 14
TOOIS REGUITEd. .ttt ettt h et bbbt bt ekt b bbb bt et b et b et eb et b e en e s eebeneenes 14
SEATIC ANCINOT PrOCEAUIE. ...ttt ettt b ettt b ettt b et be st st a st neene 15
F OOt DIMENSIONS. ..ttt ettt et a et s h et b e e a e a e s bt e e bt et e b e eae et e sbe e s s bt eaee b sueenne s bt eanenneeae 17

Life Fitness® is a registered trademark.
Gym Wipes® is a registered trademark of the 2XL Corporation. PureGreen 24 is a trademark of Pure Green.

© Copyright 2023, Life Fitness, LLC. All Rights Reserved. Life Fitness, Hammer Strength, Cybex, ICG and SCIFIT are registered trademarks of
Life Fitness, LLC and its affiliated companies and subsidiaries. Disclaimer: Images and specifications are current as of the date of publication
and are subject to change.

10601 W Belmont Ave, Franklin Park, IL 60131 e 847-288-3300

www.lifefitness.com ® 1024349-0001 AA ¢ 2023

Page 3 of 17



1. Safety

Safety Information

It is the sole responsibility of the purchaser of Life Fitness Family of Brands products to read the owner’s manual and
warning labels and instruct all individuals, whether they are the end user or supervising personnel, on proper usage of
the equipment.

UNDERSTANDING EACH AND EVERY WARNING TO THE FULLEST IS IMPORTANT. IF ANY OF THESE WARNINGS ARE
UNCLEAR, CONTACT Life Fitness Family of Brands CUSTOMER SERVICE IMMEDIATELY AT 1-800-351-3737.

This equipment is categorized as class S per EN ISO 20957-1. As such this equipment is only intended for commercial,
institutional and/or studio facilities. It is not intended for home use. Contact Life Fitness Family of Brands with any
questions regarding this classification.

It is recommended that all users of Life Fitness Family of Brands exercise equipment be informed of the following
information prior to use.

Operating Warnings

& WARNING: This product can expose you to chemicals including Methyl Isobutyl Ketone, which is known to the
State of California to cause cancer and birth defects or other reproductive harm. For more information go to
http://www.P65Warnings.ca.gov

¢ Life Fitness Family of Brands does not warrant nor guarantee that component parts used in the manufacture of
products offered under the Life Fitness Family of Brands are latex-free. Users of these products must take all
necessary precautions to prevent accidental contact that could lead to an adverse latex reaction.

e |tisthe purchaser's sole responsibility to properly instruct its end users and supervising personnel as to the proper
operating procedures of all equipment.

* This equipment is not intended for use by children. Keep children under the age of 14 away from the machine.

¢ Do not allow users to wear loose fitting clothing or jewelry while using equipment. It is also recommended to have
users secure long hair back and up to avoid contact with moving parts.

e All bystanders must stay clear of all users, moving parts and attached accessories and components while machine is
in operation.

Access Control

e Life Fitness Family of Brands recommends that all commercial fitness equipment be used in a supervised area. It
is recommended that the equipment be located in an access controlled area. Control is the responsibility of the
facility owner.

Installation

¢ Life Fitness Family of Brands recommends that all equipment be secured to a solid, level surface to stabilize it and
eliminate rocking or tipping over. This must be performed by a licensed contractor. See Bolt to Floor Guide for
installation procedure.

Proper Usage

e Do not use any equipment in any way other than as designed or intended by the manufacturer. It is imperative that
Life Fitness Family of Brands equipment is used properly to avoid injury.
® Injuries may result if exercising improperly or excessively. It is recommended that all individuals consult a physician

prior to commencing an exercise program. If at any time during exercise you feel faint, dizzy or experience pain,
STOP EXERCISING and consult your physician.

Inspection

e DO NOT attempt to use or repair any accessory approved for use with the equipment which appears to be
damaged or worn.

e DO NOT use or permit use of any equipment that is damaged and/or has worn or broken parts. For all Life Fitness
Family of Brands equipment, use only replacement parts supplied by Life Fitness Family of Brands.

¢ Maintain labels and name plates - Do not remove labels for any reason. They contain important information. If
unreadable or missing, contact Life Fitness Family of Brands customer service for a replacement.

e Equipment Maintenance - Preventative maintenance is the key to smooth operating equipment as well as to keep
your liability to a minimum. Equipment needs to be inspected at regular intervals.

e Ensure that any person(s) making adjustments or performing maintenance or repair of any kind is qualified to do
so. Life Fitness Family of Brands will provide service and maintenance training at our corporate facility upon request
orin the field if proper arrangements are made.

Page 4 of 17


http://www.P65Warnings.ca.gov

Before use, examine all accessories approved for use with the Life Fitness Family of Brands equipment for damage
or wear.

Plate Loaded, Free Weight, and Body Weight Systems

Never exceed the load rating for any plate loaded station, body weight station, bench or other free weight device;
including specific weight rod and band peg limits. See machine specifications for load limit information.

Contact a Life Fitness Family of Brands representative with any questions regarding proper weights and loading.

Warnings and Cautions

Warning labels indicate a potentially hazardous situation that could result in serious injury or death if the
precautions are not observed.

Caution labels indicate a potentially hazardous situation that could result in serious injury or damage to machine if
the precautions are not observed.

Contact Customer Support Services to replace any worn or damaged labels.

Page 5 of 17



Product Labels

FCC Compliant
e ™
[ X
EN 1SO 20957 c UK
TSCA Title VI Compliant cA

THIS DEVICE COMPLIES WITH PART 15 OF THE
FCC RULES. OPERATION IS SUBJECT TO THE
FOLLOWING TWO CONDITIONS: (1) THIS
DEVICE MAY NOT CAUSE HARMFUL
INTERFERENCE, AND (2) THIS DEVICE MUST
ACCEPT ANY INTERFERENCE RECEIVED,
INCLUDING INTERFERENCE

\THAT MAY CAUSE UNDESIRED OPERATION. /

Serial Number

-

& CAGE: \
LL5ejeRmRss Bijdorpplein 25-31 0CMY5
10601 W BelmontAve 2992 LB Barendrecht
Franklin Park, IL 60131 The Netherlands
USA 1-800-351-3737  +310180646666
www.lifefitness.com

Model:
SS-TR.PLT.BLK.X-LB.STD.S

Max. User Weight: 300 Ibs 136 kgs
Max. Training Weight: 210 Ibs 210 kgs
Max. Storage Weight: Ibs ks

SN: S$S-TR0521B028

K Manufactured in the USA with US and Foreign parts

General Warning

SERIOUS INJURY CAN
OCCUR ON THIS
EQUIPMENT.

YOU MUST FOLLOW
THESE PRECAUTIONS
TO AVOID INJURY!

. Before using, read all the
warnings and obtain
instruction on the use of
this machine. Use only for
intended exercise. DO
NOT modify the machine.

. Obtain a medical exam
before beginning any
exercise program.

. Keep body, hair and
clothing free of all
moving objects.

. Inspect machine and
attachments before use.
DO NOT use if the
machine or attachments
appear damaged.

DO NOT attempt to fix
broken or jammed
machine or damaged
attachments. Notify staff
immediately.

. Children must not be
allowed near this
machine. Supervise
teenagers.

. DO NOT exceed the load
rating. Seek Assistance.

. Manufacturer
recommends that all
equipment be secured to
the floor to stabilize and
eliminate rocking or
tipping over. Use a
licensed contractor.

. DO NOT REMOVE
THIS LABEL. REPLACE
IF DAMAGED. 4953510001

Page 6 of 17



Label Locations

ltem Description Qty.
1 General Warning 1
2 FCC Compliant 1
3 Serial Number 1
Bolt to Floor Locations
Raise foot covers to expose the bolt to floor location points.
ltem Description Qty.
1 Foot Cover 4

Page 7 of 17




2. Assembly

Components
1 3 i
R Y
4
tem Description Qty.
1 Right Side Frame 1
2 Left Side Frame 1
3 Cross Member 1
4 Spotter Platform 1
5 Seat Frame 1
6 Back Pad 1
7 Seat Pad 1
8 Hardware Bag 1
9 Multi-Language Warning Sheet 1

Page 8 of 17




Hardware

0

Q)

ltem Description Qty.
1 3/8 Washer 24
2 M10 Hex Nylock Nut 12
3 1-1/4 OD x 1/4 Spacer 5
4 CM/MJ Retainer 5
5 1" Hole Plug 12
6 M10 x 1.5 x 100mm Screw 3
7 M10 x 1.5 x 70mm Screw 2
8 M10 x 1.5 x 25mm Screw 12

Tools Required

7 mm Allen wrench

17 mm open end wrench
Level

Safety glasses

Tape measure

Torque wrench

Page 9 of 17




Assembly Procedure

Assemble Olympic Military Bench

1. Attach the cross member and spotter platform to the side frames, check for level and tighten hardware to 20-25

ft-lbs (27-34 Nm)..

Item Description Qty.
1 Ride Side Frame 1
2 M10 x 1.5 x 25mm Screw 8
3 3/8 Washer 16
4 M10 Hex Nylock Nut 8
5 Cross Member 1
6 Left Side Frame 1
7 Spotter Platform 1

2. Attach the seat frame to the frame assembly, check for level and tighten hardware to 20-25 ft-lbs (27-34 Nm)..

Item

Description

Qty.

Seat Frame

M10 Hex Nylock Nut

3/8 Washer

Al WIN

M10 x 1.5 x 25mm Screw

M|l OO| >

w
=3
0
a
o
-
>
@
(on
o]
0O
=~
©
Q
o
Q
35
o
n
@
Q
—~+
©
Q
o
®)
5
=+
o
—+
>
@
n
@
Q
-
—
=
Q
3
@
Q
>
o
[
Q
>
—+
@
35
>
Q
)
o
3
Q
)
@
—+
o
iy
o
(3]
o
5
'_
O
(7]
P
&
o
o
2
£l

Item

Description

Qty.

M10 x 1.5 x 70mm Screw

CM/MJ Pulley Retainer

1-1/4 OD x 1/4 Spacer

a|l N

Seat Pad

Back Pad

Seat Frame

N| o |l bl w]DN

M10 x 1.5 x T00mm Screw

Page 10 of 17




4. Gentlytap 1" hole plugs into place.

Item Description Qty.

1 1" Hole Plug 12

5. If desired, peel and stick label from the multi-language general warning sheet and carefully place over the English
(default) label.

ltem Description Qty.

1 Multi-Language General Warning Sheet 1

Page 11 of 17



3. Product Information

Specifications
Machine Weight: 269 lbs. 122 kg.
Size (Lx W x H): in.=51x51x70 cm=130x130x 178
Live Area (L x W): in.=99 x99 cm =252 x252
Max User Weight: 300 lbs. 136 kg.
[ 1 ]"'—_—__————_'"1
24!‘!
(61 cm)
4
L 3
oo 21

(252 cm) (130 cm)

b
24" )
(61 cm) Live Area
4 v - ] SO
- 24" > 51 - 24" ~
(61 cm) (130 cm) (61 cm)
- ?9" -
(252 ecm)

Page 12 of 17



4. Bolt to Floor Guide

Introduction

Life Fitness Family of Brands designs its products to be stable when used as designed. Because strength training is
dynamic, we cannot predict how users will ultimately use the products in all circumstances. Therefore, Life Fitness
Family of Brands recommends that strength training equipment be secured to a solid, level surface to stabilize and
eliminate rocking or tipping over.

Each new unit shipped comes with a multi-language hangtag stating the importance of bolting the unit down as a
safety precaution.

It is the facility’s responsibility to adhere to local and regional building codes.
Delivery and Installation Tips
All Anchors

e Fasteners must have minimum embedment in concrete floor, not including screed, regardless of wood/tile/rubber
over sub-floor. (See Anchor Types for maximum sub-floor thickness between unit and concrete to equipment foot
must be made of flooring or other material (i.e. no air gaps)).

e DO NOT reuse fasteners. Static and Dynamic anchors are designed for one-time use only.
e Factorin equipment’s feet height when selecting fastener length.
e Factor in flooring thickness when selecting fastener length.

® |ltis also recommended to drill an additional 1/2” (12.7 mm) of depth beyond the length of the fastener being used
to ensure that debris does not block the entry of the anchor.

e Minimum concrete compressive strength: 3000 psi (20 N/mm2).
Anchoring

e All anchors must have a minimum embedment into concrete, regardless of wood/tile/rubber/screed over sub-floor.

e Dynamic anchors must have a minimum embedment depth in concrete to ensure maximum security and pull out
force. See Anchor Types for embedment depth minimums.

Building Codes

It is the facility’s responsibility to adhere to local and regional building codes. Please verify with the customer to ensure
that they are aware of this.

Carpeting

If bolted down to carpet flooring, be sure to use a box cutter knife to cut the carpet threads around each foot. This will
help avoid the carpet threads from being wrapped around and pulled by the drill bit.

Competitor Product

The bolt down guidelines and procedures for Life Fitness products were determined by the company’s Engineering
and Installation Development groups. These guidelines include which anchors to use and positioning of the anchors
are required for Life Fitness product.

e Life Fitness does not have that level of specification or engineering input for competitive product.
e Life Fitness installation teams are not permitted to anchor competitor equipment.

Drilling

It is also recommended to drill an additional 1/2” (12.7 mm) of depth beyond the length of the fastener being used to
ensure that debris does not block the entry of the anchor.

* This can be done by marking your drill bit with a piece of tape.

* While it is recommended that a vacuum be used to clean up debiris, this will not account for all the debris that will
settle at the bottom of the drilled hole.

Page 13 of 17



Anchor Type - Static

Static Anchor Standard Sizes Drill Bit Size
Imperial: KH-EZ 3/8" x 5" 3/8in
A\\\\\\m\\m\\\\m‘\ Metric: HUS-H 10mm x 130mm 10mm

Anchor Specifications

Static Anchor Minimum Concrete | Minimum Drill Depth | Minimum Concrete Minimum concrete
Thickness in Concrete Embedment compressive strength
KH-EZ 1/4" 4-1/8" (105mm) 1/2" (12.7mm) 2-1/2" (63.5mm) 3000psi (20 N/mm?2)
beyond anchor
length
HUS-H 6mm 3-3/32" (100mm) 25/64" (10mm) 2-1/64" (55mm) 3000psi (20 N/mm2)
beyond anchor
length

Pullout Force

Life Fitness specifies Hilti™ static and dynamic anchors. According to the anchor manufacturer, the recommended
design pullout force (in tension) for the specified anchors, when properly installed in cracked concrete, is provided in
the side table. This table should be used for reference only; for additional and up-to-date information on the anchor
capabilities or the design pullout force in other substrates, please consult Hilti directly at https://www.us.hilti.com.

Selected Anchor Design Resistance in Tension *
KH-EZ 1/4" x 4" 830 b
HUS-H 6MM x 120MM 3.3kN
KH-EZ 3/8" x 4" 1535 1b
KH-EZ 3/8" x 5" 1535 1b
HUS-H 8MM x 120MM 3.3 kN
HUS-H 8MM x 150MM 3.3 kN
HSL-3 and HSL4 M 8/40 2000 Ib
HST M12 x 115/20 8 kN
HST M12 x 195/200 8 kN
KB-TZ 3/8" x 3-3/4" 1615 1b

* Design strength extracted from the Hilti Anchor Fastening Technology Manual.

Tools Required

A\

e 1" L-shape SDS rotary hammer

for proper usage.

e (Imperial anchors) 3/8" diameter carbide drill bit
e (Metric anchors) 10mm diameter carbide drill bit

e Extension cord

e Floor scanner / rebar detector (optional)
e Hammer (Dynamic anchors only)

* Rotary tool

e Safety glasses

¢ Tape measure

e Torque wrench

Page 14 of 17

WARNING: Adhere to manufacturer’'s equipment warnings and guidelines. Follow manufacturer’s instructions



https://www.us.hilti.com

* Vacuum (for debris)
Static Anchor

e Floor scanner / rebar detector (optional)

e 1" L-shape SDS rotary hammer

e 1/4"x 12" (6mm x 305mm) carbide drill bit (for 1/4” (6mm) anchors)
e 3/8"x 12" (8mm x 305mm) carbide drill bit (for 3/8” (8mm) anchors)
e Safety glasses

* Extension cord

e Impact wrench

* Vacuum (for debris)

Static Anchor Procedure

i CAUTION: If it is possible that the length of your bolt will not provide the minimum requirement of 2.5”
(63.5mm) of engagement, a longer anchor should be used.

1. Place unitinto position to be mounted and cycle unit to set stance.
2. Each foot must get at least one static fastener.

3. Wearing protective glasses, drill down into the flooring to the required depth as perpendicular as possible,
ensuring that the foot thickness is being accounted for; refer to Anchor Selection and Foot Dimensions.

Page 15 0f 17



4. |Insertfastener and tighten to 18 Foot-Pounds (24Nm) for 1/4" (6mm) anchor or 40 Foot-Pounds (54Nm) for 3/8"
(8mm) anchor.

NOTE: If the legs/frame do not contact the mounting surface DO NOT pull down with the fastener or anchor.
Loosen frame hardware and re-tighten to allow machine to align.

~ 000 MINIMUM [
Sy ¥
o257 (63.5mm)| -

SR :~_.-_,~,_;"".c-.
~[0.57 (12.7 mm)}-=-
Senaae e RN

Page 16 of 17



Foot Dimensions

Use below image to determine foot specifications.

7/16"

(11 mm)GD

\\\\‘x\\ 5/ "
.1 (15.70 mm)

Page 17 of 17






	Table of Contents
	Safety
	Safety Information
	Product Labels
	Label Locations
	Bolt to Floor Locations

	Assembly
	Components
	Hardware
	Tools Required
	Assembly Procedure
	Assemble Olympic Military Bench


	Product Information
	Specifications

	Bolt to Floor Guide
	Introduction
	Delivery and Installation Tips
	Anchor Type - Static
	Anchor Specifications
	Pullout Force
	Tools Required
	Static Anchor

	Static Anchor Procedure
	Foot Dimensions




